Al

Ol &F A

Al A

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
2 Xt Z At 7,512,5%4 7,770,241 NP57,647
= 421,615
| 6,218
& 1,523,152
Al 5,561,609
g 58 2 ory 2,245,905 2,540,331 A294,426
= 186,910
Al 2,058,995
A0 XA 2,245,905 2,540,331 A294,426
& 186,910
Al 2,058,995
SS2ZAS 1,591,965 1,435,687 156,278
101 2124 d| 1,588,965 1,432,687 156,278
M I1RINZ2Z2XsEs 1,588,965 1,432,687 156,278
O3322 X olAH| S(2409) 1,398,965
AL==1(INFATES-T)
10,030 *80H *131AI 2t+ 12J0 & 1,261,373
—2+HAlH| 5,000 x80H x22 = 120 & 105,600
SIELEE
3,0002 x 10 +22 1201 & 7,920
~HXtREEIE (e
50, 1503 «80F x6 24,072
OMNZIEEZ 190,000,000& 190,000
201 L2 AH| 3,000 3,000
01 Al22t2lH] 3,000 3,000
02222 849 5 7¢
3,000,000& 3,000
KNEBSH LR2IAIS (HEAI) 96,000 94,700 1,300
T 48,000
Al 48,000
101 2124l 9,000 92,500 3,500
T 48,000
Al 48,000
M IIRNZ2E2XsEs 96,000 92,500 3,500
OXS=sH LRtelArd 24| 96,000
AL=1 60, 180R x5 21+ 10& 63,189
& 31,594
Al 31,59
=5 60, 1803 x5H «452! 13,541
T 6,771
Al 6,770
R UPNES S =D =y
60, 180R& x5 «10 3,009
& 1,504
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M D2 =3 9 oF
el AU XA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 1,505
—2+HAlH| 5,000 x5 x2082! 5,200
T 2,600
Al 2,600
<R S JEe gl
11,061,000 11,061
& 5,531
Al 5,530
ALt HEHAIY =& 700 700 0
201 B2 AY| 700 700
01 Al 22IH| 700 700
OMEQITSIAS AAST
100,000&*1E*13] 100
O ABIEE S EAH
100,000 & *3H *23| 600
CSEHAH & SARZH ZEAE BX3 3,500 3,500
307 212+01™ 3,500 3,500
02 QIZHBAAIHE R 3,500 3,500
OLs&EJI18lal s AMEXA
3,500,000& 3,500
2AX2|HEH 29 17,814 19,472 A1,658
= 1,258
Al 16,556
101 21| 4,84 0 4,84
& 1,258
Al 3,5%
M IIRINZ2Z2XsSEs 4,854 0 4,854
OLXelHE ChMQ e (R AE AL 19) 4,854
A== 2,096,270 x 1523 4,193
T 1,258
Al 2,935
R UPNES TP =y
80,2403 x 12 161
-HEzg S 250,000 x 15«23 500
201 L2 AY| 12,960 19,472 6,512
01 A=R2teld| 12,000 17,712 ANB,712
OLXtelME Let=ZH|
7,000,000& 7,000
O XelAe =2 5,000,000& 5,000
02 2324l 960 1,760 A800
OHIYU(RIFE) BXAESZ S
80,0003 *123] 960
2AeIHE MNgssiigdEd 23 60,000 60,000
201 B2 AY| 60,000 60,000 0
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 60,000 60,000 0
OZLAEIHH RHsHIHLESH
15,000,000& *43] 60,000
ZZAILIG(AY) LXtal A 14,406 14,098 308
101 21A4H| 14,406 14,098 308
04 JIZtN2Z2 XS 14,406 14,098 308
OE=ZAILIN r481(19) 14,406
123 (5A12H/F52)
1,313,930 x1E+ 10 13,140
-ssrela 99,56021% 124+ 102 9%
ARSI ENAL
53,950 x1E+5& 270
AR HBM T4 A& 11,100 11,100 0
201 et 3| 10,800 10,800
01 At22t2l] 5,800 5,800
OMIHTH SRR dA+E
100,000& 4 & =22 800
OA2IH N 222 N& S
5,000,000& 5,000
03 A= I 5,000 5,000 0
OAIHZNDIY s & A48 S
5,000,000& 5,000
202 04| 300 300
01 =LHO LI 300 300
OMIRZM |4 F& 04
300,000 300
AR HEH FHUs XA 20,000 20,000 0
= 6,000
Al 14,000
307 @120l & 20,000 20,000 0
=S 6,000
Al 14,000
02 QB HANEER 20,000 20,000 0
OAMIHZH XA A
20,000,000 20,000
< 6,000
Al 14,000
OIEZ3=H SSHEas XA 20,000 30,000 10,000
= 6,000
Al 14,000
307 gl2to| & 20,000 30,000 10,000
=S 6,000
Al 14,000
02 QB AANEER 20,000 30,000 10,000
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ool AgiHE N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oll=ESH SSHEs XNZA
5,000,000 *47H 2= 20,000
= 6,000
Al 14,000
OtessSH 2=)1 N3 1,750 1,750
201 et 3| 1,250 1,250
01 At 22|l 1,250 1,250
OltSSSH XN2AE S5 M S
55,0003 * 107K 550
OlIS2SSH 32AIY FIENH YA
2 100,000& 3 *13] 300
Olt=SSH s2AE 283
100,000 x2EH #2412+ 400
202 04| 500 500
01 =LHOLI 500 500
Olt=asH 54 XI& 0yl
500,000 500
MBI HZH AIEES K- 20,000 20,000 0
= 6,000
Al 14,000
201 er23| 20,000 0 20,000
= 6,000
Al 14,000
03 A= 20,000 0 20,000
OAI &M Us&H =4 XI&
20,000,000& 20,000
< 6,000
Al 14,000
SFHA 2EE BUHE(FEY 0B) 29 111,180 116,109 A4,929
101 @124H| 50,240 49,169 1,07
M OIRIMZZ2NSE S 50,240 49,169 1,071
O2dE HUNE(FEY 012) 2(29) 50,240
-Jl23(+4.52)
1,885,640 x2&* 12 45,256
-—dEd= 142,880& x2& 123 3,430
REPNETE= ) S
77,6903 x2E * 10 1,554
201 er23| 60,440 66,440 26,000
01 AtR2t2|HI 45,440 51,440 26,000
OHE H= XS
28,200,000 * 1 28,200
O3JIEEI| Xz
52,000 =20 =122 1,248
O&=J| gtz 58,0002« 1CH =122 696
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ool AgiHE N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SERETESTIEET]
220,0008x 122 2,640
OIIEZMAIAE FXE==H]
363,008 128 4,356
SoanE Yy
2,000,000& 2,000
Oy 2223 ¢ 3,000,000& 3,000
OBY &) U AF 2
1,650,0002 *23] 3,300
02 S3=gHl 15,000 15,000 0
OB &IIe=s 1,000,000& ~12& 12,000
Ooste=a s 3,000,000 3,000
202 04l 500 500
01 =LHN LI 500 500
OSSP 29 22 =&
500,000 500
A2 SSH Jlgtxd 7,000 10,000 A3,000
== 2,100
Al 4,900
201 2= 7,000 0 7,000
[ 2,100
Al 4,900
03 A=l 7,000 0 7,000
OBEM JIBES (9IS, A2LSIS S)
,000,000& 7,000
= 2,100
Al 4,900
CSoHEXZ0l 2E 88,490 88,070 420
s 26,552
Al 61,938
307 21201 & 88,490 88,070 420
< 26,552
Al 61,938
02 2B HAHE L 88,490 88,070 420
OLsetdXIZ0l 2 XI&(2Y)
88,490,000 88,490
= 26,552
Al 61,938
(GIENAIRIEDIY LR2IEHEAMDE(Z) 82,000 60,800 21,200
=S 41,000
Al 41,000
307 21201 & 82,000 60,800 21,200
== 41,000
Al 41,000
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ool AgiHE N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 82,000 60,800 21,200
O(OIBIAIBIRDIS LI2IHE K= (3HL)
82,000,000& 82,000
= 41,000
Al 41,000
BFAG FUNAN OI=2E A 100,000 0 100,000
== 50,000
Al 50,000
307 212+01& 100,000 0 100,000
< 50,000
Al 50,000
02 LB HAHE L 100,000 0 100,000
O&ENS FoUNEN D=5 A
100,000,000 100,000
= 50,000
Al 50,000
ANSEH gdat 13,000 14,000 21,000
M 2438t 018t 2= 13,000 14,000 21,000
NS ZH 24 A 13,000 14,000 21,000
203 HR=H] 13,000 14,000 21,000
03 Al =X =ZIY| 13,000 14,000 A1,000
O AHzTiREAY
13,000,000 13,000
MehAld 54 2,083,810 3,221,060 21,137,250
= 6,120
= 646,284
Al 1,431,406
MeHAIE Slist 22,000 56,000 34,000
HEANY HHEE 22,000 56,000 34,000
401 AIEHIZ SR OHYI 22,000 56,000 34,000
01 Al&HI 22,000 56,000 234,000
SLANE ol &4 S X2
22,000,000 22,000
MHeHAIE & XIFZMELst 2,061,810 3,165,060 21,103,250
= 6,120
< 646,284
Al 1,409,406
MHelAlE & BHEdst 22 103,150 100,000 3,180
201 2egh=3| 100,000 100,000 0
01 At22t2lt] 17,000 0 17,000
OMcHAIE AZAIE ol 2
17,000,000 17,000
02 S3=gl 83,000 100,000 A17,000




A LRI Z L
ZE: ThAD S
CHRlr THeHAIE & XS3ME LS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONcHAE & ==dd Ad 332 £ &
NEES] 83,000, 0002 83,000
307 QI2H0I 3,150 3,150
04 DIZFHANAII B 3,150 3,150
OHSAZ(L4T0) 92
3,150,000& 3,180
NI = ke 559,260 774,760 A215,500
201 2= 7,660 7,660 0
01 At22telt] 4,160 4,160 0
O3JI38)I| itz
35,0002 +3CH =122 1,260
OXBIANE MRS HA+E
100,000 5 & »23] 1,000
OadIA St S 24| 900,000 900
O4430 BHoHY 2435t 23 S24|
1,000,000 1,000
2 5234l 3,500 3,500 0
Oxtgr= Al 3,500,000 *1CH 3,500
202 048l 500 500
01 2L AL 500 500
OZH & St&el odl 500,000 500
203 =] 6,500 7,000 A500
03 A=A =TH] 6,500 7,000 A500
OgXtelZ Mt AIBFHR =]
6,500,000 6,500
301 EtE NS 9,600 9,600
4 IIEt2 83 9,600 9,600
OSIHZLIEHRR 2S24=
100,000 ~8& +12& 9,600
306 EX= 440,000 350,000 90,000
01 £g= 440,000 350,000 90,000
OO0 SES SHS(FINELSMH
&) 400,000,000 400,000
Oxatzel SES =43 SH3(30IA
EESML) 40,000,000 40,000
307 elzto| & 95,000 200,000 105,000
08 OIXt2d= 95,000 200,000 105,000
OxatE0 Sd=2S 0IXE2dE =
95,000,000& 95,000
XIS 3HH e X2 (6%) 914,000 1,434,000 /520,000
[ 457,000
Al 457,000
201 el 914,000 1,434,000 /520,000
= 457,000
Al 457,000
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33 MWHAE =4
CHRlr THeHAIE & XS3ME LS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 914,000 1,434,000 /520,000
Ot AOIEQIGIE HIZ(6%)
914,000,000 914,000
= 457,000
Al 457,000
XIS SHH e X1 (10%) 370,000 710,000 340,000
== 185,000
Al 185,000
201 2= 370,000 710,000 340,000
< 185,000
Al 185,000
01 At2t2ltl 370,000 710,000 340,000
Ogprarst AOHEQIGIE HIZ(10%)
370,000,000& 370,000
= 185,000
Al 185,000
) S3Hgy 28 & 22 95,000 95,000 0
201 fer=3| 5,000 5,000
01 AtR2t2|H] 5,000 5,000
O3stigdy 24| 5,000,000& 5,000
403 TR M SAH=01H 90,000 90,000
02 SIS0t =S A AEHI 90,000 90,000
Osstigd olekd=s
90,000,000 90,000
EHetAga 2435 X 20,400 10,700 9,700
= 6,120
S 4,284
Al 9,9%
301 LEtE NS 20,400 10,700 9,700
= 6,120
< 4,284
Al 9,99%
14 JIEt2 8= 20,400 10,700 9,700
OFstAAAx 243t X3 (24H2)
20,400,000 20,400
= 6,120
== 4,284
Al 9,99%
UIEPNRIFSE=ar=r= P/ F 1,439,819 536,360 903,459
= 415,4%
Il 6,218
== 229,304
Al 788,802
s UXl 2= 1,439,819 536,360 903,459
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Ho: UTIE W 22
=Rl 2838 UK 32 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 415,49
Jl 6,218
= 229,304
Al 788,802
SO Ol X2 38,460 40,860 2,400
201 Let=23 | 37,000 39,400 A2,400
01 AtR2te|Hl 37,000 39,400 A2,400
Ot BT+ (F A ANMEY)
66,0002 50004 2 33,000
OuUX A1 E2= M
4,000,000 4,000
202 04l 1,460 1,460
01 2LHoIH 1,460 1,460
OJTHAOIHXI=& 04| 730,000 730
OJA & oiLixIZ2l o1t
730,000 730
_lglE 1002ts 25AtY 60,680 60,000 680
402 2I2FXH=201H 60,680 60,000 680
02 QI ESASEZ(0IETHR) 60,680 60,000 680
OFe ATANATILY LXK (EHL 46
It7) (=HI0HE) 50,000,000 50,000
OFe U (30) AXINAERSZ 10917)(
SHIOHE) 10,680,000& 10,680
SAIDA BSAE 360,980 324,340 36,640
=S 180,490
Al 180,490
402 2I2F X201 & 360,980 324,340 36,640
== 180,490
Al 180,490
02 QI THZ2AILEE (01X THE) 360,980 324,340 36,640
O20258 ZAIDEA HH 2t KIRALS
360,980,000 360,980
= 180,490
Al 180,490
OIAXIS & A 4,000 4,000
201 er2 3| 4,000 4,000
03 A= I 4,000 4,000
OulXI2 & At 4,000,000& 4,000
EOI=E B2 25,456 33,000 AT,544
403 AXIEHHSAH=201H 25,456 33,000 AT ,544
02 S 2SS0t et =& 2 €A | 25,456 33,000 AT,544
OEOIIZOIANE S EHR) 25
25,456,000 25,456
LPGEI| AFEIt+ AIEIHA 7,830 0 7,830
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X XH -
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=aak
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i XIere &

S=2H4
SEH WX 3

oy

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,915
Al 3,915
403 X SHHMSAH=01H 7,830 0 7,830
= 3,915
Al 3,915
02 SIS0t =2 2 P E A I 7,830 0 7,830
OLPGEI| AHZIF AIZIK& (300H7)
7,830,000& 7,830
= 3,915
Al 3,915
FHAAS WK==KA 12,436 25,760 13,324
7l 6,218
Al 6,218
401 AlEHIZL SO 12,436 25,760 A13,324
Il 6,218
Al 6,218
01 Al&H| 12,436 25,760 13,324
OAt2ISXIAIE LEDEYE WA
12,436,000 12,436
) 6,218
Al 6,218
=gl oW X =X X 55,000 48,400 6,600
< 27,500
Al 27,500
403 TR SHMSAH=01H 55,000 48,400 6,600
= 27,500
Al 27,500
02 SI12S0IT et =& P E A I 55,000 48,400 6,600
O=ZUHl HIUXI=SX X2 A
1,100,000 x50+ 55,000
= 27,500
Al 27,500
Ol 28X13 26,308 0 26,308
& 13,154
Al 13,154
402 BIZtAH=01 A 26,308 0 26,308
== 13,154
Al 13,154
02 QI X2 AL EE(0IHTHE) 26,308 0 26,308
Ooblliggd 28X 26,308,000& 26,308
= 13,154
Al 13,154
JIZAX} ofld SXAIE HH2D| XA 27,200 0 27,200
== 8,160




2A:

2 Atel Z Xl ot

Ho: UTIE W 22
&t 288 Ul 3= (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 19,040
402 2I2FX=01 & 27,200 0 27,200
=S 8,160
Al 19,040
02 RIINEASEZ(0IETHR) 27,200 0 27,200
OJIBZAT A SRAIE W] XA
& 27,200,000 27,200
< 8,160
Al 19,040
AU 2S 8=EXR 821,469 0 821,469
= 411,580
Al 409,889
401 AIZHIX S0HH 821,469 0 821,469
= 411,580
Al 409,889
01 AlZ28| 821,469 0 821,469
020258 AIHEHUHK E=EXIE
821,469,000 821,469
= 411,580
Al 409,889
JIE= XX 1,515,717 1,063,060 452,657
s 423,809
Al 1,091,908
B AHY 3 1,370,717 789,260 581,457
[ 389,009
Al 981,708
SAI 2SR 470,400 503,200 A32,800
202 04l 700 700 0
01 2LHoIH 700 700 0
OS2I NS Ol 700,000 700
306 £¢= 313,000 321,000 28,000
01 8d= 313,000 321,000 /8,000
Os2I1d |4I18 2¢3(3I15)
93,000,000 93,000
OS2I S=ES S (FINIELSMH
&) 200,000,000 200,000
OsAIIY SAES =42 sH3(30A
25T 20,000,000& 20,000
307 el2to| & 30,500 13,500 17,000
02 2IZHBYAIHE A 30,500 13,500 17,000
OJlgel sgdst s X2
10,500,000& 10,500
OAlZ= Sat SH (24! 0HE)
20,000,000 20,000
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B2 J|YREI K
&Rl DI AL (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 126,200 167,000 240,800
07 AX R FE= 33,000 92,000 59,000
FIIEFSEA2HH 23|
33,000,000& 33,000
183 S| 2SO U ZB & HAEAIE 93,200 75,000 18,200
OSAJY NLaaEz S5 X3 (3D
CEHUERER) 60,000,000 60,000
OXIATHAEE KR (2HI0HE)
15,000,000 15,000
OF2JIg RS LIkl g X2 (=HI0E)
18,200,000& 18,200
HRI1Y 8EIIESs0l Al 40,000 40,000 0
== 20,000
Al 20,000
307 212+01& 40,000 40,000 0
[ 20,000
Al 20,000
02 B A HE L 40,000 40,000 0
ORI s¥)|le=s50| ML
40,000,000 40,000
= 20,000
Al 20,000
JIESE NE(ZIIETL3) 27,540 27,540 0
s 8,262
Al 19,278
308 AFAIEHMSOIE 27,540 27,540 0
S 8,262
Al 19,278
13 S [2S0tHe 4 A AS A 27,540 27,540 0
OIS HA (FIIHAEIS)
27,540,000 27,540
= 8,262
Al 19,278
s2J18 Sls X3 100,000 100,000
308 AtXIEMSOIE 100,000 100,000
18 SISt HAS A 100,000 100,000
OsaJlg szt X
100,000,000 100,000
sSAIY 2274 X 30,000 30,000
308 XtXIEMSO0IE 30,000 30,000
18 SISOt EAS A 30,000 30,000
OosY =E=FHl X2
30,000,000& 30,000
LHAIE F=HAS =X 123,717 0 123,717
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S JIE=AXE
o9l Dl EMAAG (gl
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 123,717
401 AIEHIX 20 123,717 0 123,717
=S 123,717
01 Al&H| 123,717 0 123,717
OZHEAE F=HIA FLUXR A
123,717,000& 123,717
= 123,717
RS =22 dRHEST 29 525,000 0 525,000
= 210,000
Al 315,000
307 elztol & 525,000 0 525,000
= 210,000
Al 315,000
05 212t =S 525,000 0 525,000
OYLE 22 HRUHEST 29
525,000,000 525,000
== 210,000
Al 315,000
ANESE ESE4A XA (ZIIHALMA) 54,060 0 54,060
= 27,030
Al 27,030
308 AHXIEMSOIH 54,060 0 54,060
= 27,030
Al 27,030
18 SIS0t HAS A 54,060 0 54,060
OADIERE P28 NA(ZIIHA:
3) 54,060,000 54,060
== 27,030
Al 27,030
@28y =5 108,000 114,000 26,000
= 34,800
Al 73,200
XS AADAE X R (M EAL) 12,000 12,000 0
= 6,000
Al 6,000
307 el2to| & 12,000 12,000 0
= 6,000
Al 6,000
02 QB HANEEX 12,000 12,000 0
O=U&Alel HIDI1E X
3,000,000 *40H 2= 12,000
[ 6,000
Al 6,000
SAIIY =Sk JIsAH SXHHl K& 36,000 42,000 26,000
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JIPS XX

Rl D183y =5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,800
Al 25,200
307 lztol & 36,000 42,000 26,000
= 10,800
Al 25,200
02 2IZHBYAIHE X 36,000 42,000 26,000
OZAIIY LEX JISAF ARl NI
300,000 x 12 *10& 36,000
=S 10,800
Al 25,200
SE=SA FHAE He 60,000 60,000 0
< 18,000
Al 42,000
402 QI2F X201 & 60,000 60,000 0
= 18,000
Al 42,000
02 QI X2 AL EE(0IETHE) 60,000 60,000 0
OIS A FHAE JHe
15,000,000 #40H 2= 60,000
= 18,000
Al 42,000
LA ER] 2t 37,000 159,800 122,800
LUHAH R 2t 37,000 127,000 A90,000
201 2= 2,000 2,000 0
2 S52g4l 2,000 2,000 0
O&HE JIHetf2tE FXEx S
2,000,000& 2,000
401 Al HIZ S 0HbI 35,000 115,000 80,000
01 Al&H| 35,000 115,000 80,000
OLErAER =4
17,500,000& »22] 35,000
g EX 243t 23,000 194,274 A171,274
Jgx=d N2 & 2el 23,000 194,274 A171,274
SEEHELE 2el 7,000 177,274 A170,274
307 elztol & 7,000 7,000 0
02 2IZHBYAIHE X 7,000 7,000 0
Oxg SSAE XNH 7,000,000& 7,000
FE0IZ SHAAFEIA S N [SFE ottt 16,000 16,000 0
X =4]
201 fet=3| 15,000 15,000
01 AtR2t2|HI 15,000 15,000
OJIg=A 822 M 15,000,000 15,000
202 04| 1,000 1,000 0
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M JIg &4 2dst
ol J1gxd XE & 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,000 1,000 0
ORAER 2HII2 8 S it
1,000,000& 1,000
dY2IZHI(LA2IZ M) 182,943 193,956 A11,013
< 36,845
Al 146,008
Jl=3HI(L X2l Z M) 38,670 40,000 21,330
Jl23HI(L Xt 2B ) 38,670 40,000 21,330
201 er23 | 22,450 23,600 AT1,180
01 At2teltl 21,850 23,000 A1,150
ORKN2EAIR22/H 21,850,000& 21,850
02 S3=gHl 600 600 0
OBY2HR I Loy
600,000& 600
202 04| 8,000 8,000
01 =LHOLI 8,000 8,000
OJ12dR4801(25¢)
8,000,000& 8,000
203 HR=AH] 8,220 8,220
01 D[22 HRFa| 3,300 3,300
(OPJEC pepehes Eotarlal 3,300,000& 3,300
MU A2 LRSI 4,920 4,920 0
ORNSYYRENY|(2Y)
410,000& 123 4,920
A2 (LRI E M) 144,273 163,956 29,683
< 36,845
Al 107,428
Al LAeldE 12l K& 144,273 163,956 29,683
= 36,845
Al 107,428
101 @124H| 144,273 163,956 9,683
= 36,845
Al 107,428
03 SRA(RIH )22 U2+ 144,273 163,956 29,683
OAlZ LXAelHE 2T (RSHEA 4H) 144,273
-J22(3Y) 2,580,000 ~3F 122 92,880
[ 27,864
Al 65,016
JlEs(1g) 2,848,520 1493 25,637
= 7,691
Al 17,946
-2glldE 4,300,000& 4,300
s 1,290




A dXelZ N Dt
M HY2AAU(LX2IZH D)
CHRl: ol R9H|(LXt2IZ M) (St &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
Al 3,010
-HAESIHH|(3H)
1,548,000 *3F *23| 9,283
“HEEIHI(1Y)
1,709, 1153 *1F*13] 1,710
ObELY, HtEal S
10,458,000& 10,458
Heas(gxeld 8,400 7,200 1,200
BHENE(LXtel 8,400 7,200 1,200
IEyeE=E (X 8,400 7,200 1,200
802 Btatgd 8,400 7,200 1,200
03 JIEFEH 8,400 7,200 1,200
OXSH Abed BEERZ(20
24HZ) 8,400,000& 8,400




